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1. Financial statements in the early 2000s provide information related to
A) non-financial measurements.
B) forward-looking data.
C) hard assets (inventory and plant assets).
D) none of these.

2. Which of the following statements about materiality is z2of correct?
A) An item must make a difference or it need not be disclosed.
B) Matenality is a matter of relative size or importance.
C) Anitem is material if its inclusion or omission would influence or change the
judgment of a reasonable person.
D) All of these are correct statements about materiality.

3. A review of the December 31, 2007, financial statements of Baden Corporation revealed
that under the caption "extraordinary losses," Baden reported a total of $515,000. Further
analysis revealed that the $515,000 in losses was comprised of the following items:

(1) Baden recorded a loss of $150,000 incurred in the abandonment of equipment
formerly used in the business.

(2) In an unusual and infrequent occurrence, a loss of $250,000 was sustained as a result
of hurricane damage to a warehouse.

(3) During 2007, several factories were shut down during a major strike by employees,
resulting in a loss of $85,000.

(4) Uncollectible accounts receivable of $30,000 were written off as uncollectible.
Ignoring income taxes, what amount of loss should Baden report as extraordinary on its
2007 income statement? ‘
A) $150,000.

B) $250,000.

C) $400,000.

D) $515,000.

4, Morgan Corporation reports the following information:
Net cash provided by operating activities $255,000
Average current liabilities 150,000
Average long-term labilities 100,000
Dividends paid 60,000
Capital expenditures 110,000
Payments of debt 35,000

Morgan's free cash flow is

A) $50,000.

B) $85,000.

C) $145,000.

D) $195,000. (@A RE FHEREL)
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5. Bumett Corporation had a 1/1/07 balance in the Allowance for Doubtful Accounts of
$15,000. During 2007, it wrote off $10,800 of accounts and collected $3,150 on accounts
previously written off, The balance in Accounts Receivable was $300,000 at 1/1 and
$360,000 at 12/31. At 12/31/07, Bumett estimates that 5% of accounts receivable will
prove to be uncollectible. What should Burnett report as its Allowance for Doubtful
Accounts at 12/31/07?

A) $7,200.
B) $7,350.
C) $10,350.
D) $18,000.

Use the following to answer question 6:

Ely Company had January 1 inventory of $100,000 when it adopted dollar-value LIFO. During the
year, purchases were $600,000 and sales were $1,000,000. December 31 inventory at year-end
prices was $126,500, and the price index was 110.

6. What is Ely Company's gross profit?
A) $415,000.
B) $416,500.
C) $426,500.
D) $883,500.

7. On December 31, 2006, Lilly Co. adopted the dollar-value LIFO retail inventory method.
Inventory data for 2007 are as follows:

LIFO Cost —Retail
Inventory, 12/31/06 $300,000 $420,000
Inventory, 12/31/07 ? 550,000
Increase in price level for 2007 10%
Cost to retail ratio for 2007 - 70%
Under the LIFO retail method, Lilly's inventory at December 31, 2007, should be
A) $361,600.
B) $385,000.
C) $391,000.

D) $400,100.
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8.

10.

Keach Company traded machinery with a book value of $285,000 and a fair value of
$270,000. It received in exchange from Marlin Company a machine with a fair value of
$300,000. Keach also paid cash of $30,000 in the exchange. Marlin's machine has a book
value of $285,000. What amount of gain or loss should Keach recognize on the
exchange?

A) $30,000 gain

B) § -0-

C) $1,500 loss

D) $15,000 loss

In March, 2007, Tylor Mines Co. purchased a coal mine for $6,000,000. Removable coal
is estimated at 1,500,000 tons. Tylor is required to restore the land at an estimated cost of
$720,000, and the land should have a value of $630,000. The company incurred
$1,500,000 of development costs preparing the mine for production. During 2007,
450,000 tons were removed and 300,000 tons were sold. The total amount of depletion
that Tylor should record for 2007 is

A) $1,374,000.

B) $1,518,000.

C) $2,061,000.

D) $2,277,000.

Hall Co. incurred research and development costs in 2007 as follows:

Materials used in research and development projects $ 450,000
Equpment acquired that will have alternate future uses in fiuture research

and development projects 3,000,000
Depreciation for 2007 on above equipment 300,000
Personnel costs of persons involved in research and development projects 750,000
Consulting fees paid to outsiders for research and development projects 150,000

Indirect costs reasonably allocable to research and development projects 225,000

The amount of research and development costs charged to Hall's 2007 income statement

should be ’
A) $1,500,000.
B) $1,650,000.
C) $1,875,000.
D) $4,050,000.

(FminHEE FEShg)
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11.

12.

13.

During 2006, Venable Co. introduced a new line of machines that carry a three-year
warranty against manufacturer's defects. Based on industry experience, warranty costs are
estimated at 2% of sales in the year of sale, 4% in the year after sale, and 6% in the
second year after sale. Sales and actual warranty expenditures for the first three-year
period were as follows:

Sales ~ Actual Warranty Expenditures

2006 $ 400,000 $ 6,000

2007 1,000,000 30,000

2008 ~1,400,000 —-90,000
$2,800,000 $126,000

A) $0

B) $10,000

C) $136,000

D) $210,000

Wiley, Inc. has 50,000 shares of $10 par value common stock and 25,000 shares of $10
par value, 6%, cumulative, participating preferred stock outstanding. Dividends on the
preferred stock are one year in arrears. Assuming that Wiley wishes to distribute
$135,000 as dividends, the common stockholders will receive

A) $30,000.

B) $55,000.

C) $80,000.

D) $105,000.

On January 2, 2007, Ramos Co. issued at par $10,000 of 6% bonds convertible in total
into 1,000 shares of Ramos's common stock. No bonds were converted during 2007.
Throughout 2007, Ramos had 1,000 shares of common stock outstanding. Ramos's 2007
net income was $3,000, and its income tax rate is 30%. No potentially dilutive securities
other than the convertible bonds were outstanding during 2007. Ramos's diluted earnings
per share for 2007 would be (rounded to the nearest penny)

A) $1.50.

B) $L.71.

C) $1.80.

D) $3.42.
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Use the following to answer question 14:

The summarized balance sheets of Elston Company and Alley Company as of December 31, 2007
are as follows:
Elston Company
Balance Sheet
December 31, 2007

Assets $1,200.000
Liabilities $§ 150,000
- Capital stock 600,000
Retained earnings 450,000
Total equities $1.200.000

Alley Company

Balance Sheet

December 31, 2007

Assets $500,000
Liabilities $225,000
Capital stock 555,000
Retained earnings 120,000
Tuotal equities $500.000

14. If Elston Company acquired a 30% interest in Alley Company on December 31, 2007 for
$225,000 and the equity method of accounting for the investment were used, the amount
of the debit to Investment in Alley Company Stock would have been
A) $285,000.

B) $225,000.
C) $180,000.
D) $202,500.

(FBIBEEE HBEHRES)
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15.

16.

On January 1, 2007 Tasty Delight, Inc. entered into a franchise agreement with a
company allowing the company to do business under Tasty Delight's name. Tasty Delight
had performed substantially all required services by January 1, 2007, and the franchisee
paid the initial franchise fee of $560,000 in full on that date. The franchise agreement
specifies that the franchisee must pay a continuing franchise fee of $48,000 annually, of
which 20% must be spent on advertising by Tasty Delight. What entry should Tasty
Delight make on January 1, 2007 to record receipt of the initial franchise fee and the
continuing franchise fee for 20077 ‘

B Cash e 608,000

Franchise Fee Revenue..............ooooooooo 560,000
Revenue from Continuing Franchise Fees............... 48,000
B Cash. oo 608,000
Unearned Franchise Fees ... 608,000
C. Cash. e 608,000
Franchise Fee Revenue......................... 560,000
Revenue from Continuing Franchise Fees............... 38,400
Unearned Franchise Fees ... 9,600
d. Prepaid Advertising...............cocoooovoeo 9,600
CaSh e 608,000
Franchise Fee Revenue...........ococooooooii 560,000
Revenue from Continuing Franchise Fees ... 48,000
Unearned Franchise Fees ... 9,600
A) a
B) b
O ¢
D) d

In 2007, Admire Company accrued, for financial statement reporting, estimated losses on
disposal of unused plant facilities of $1,500,000. The facilities were sold in March 2008
and a $1,500,000 loss was recognized for tax purposes. Also in 2007, Admire paid
$100,000 in premiums for a two-year life insurance policy in which the company was the
beneficiary. Assuming that the enacted tax rate is 30% in both 2007 and 2008, and that
Admire paid $780,000 in income taxes in 2007, the amount reported as net deferred
income taxes on Admire's balance sheet at December 31, 2007, should be a

A) $420,000 asset.

B) $360,000 asset.

C)  $360,000 liability.

D) $450,000 asset.
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17. Presented below is pension information related to Marten Company as of December 31,

2008:

Accumulated benefit obligation $3,000,000
Projected benefit obligation 3,500,000
Market-related asset value 2,400,000
Plan assets (at fair value) 2,500,000
Accrued pension cost 300,000
Unrecognized prior service cost 100,000
The amount to be reported as Intangible Asset eferred Pension Cost as of December 31,
2008 1s

A) $500,000.

B) $1,000,000.

C) $200,000.

D) $100,000.

18. On December 31, 2007, Patten Co. leased a machine from Bass, Inc. for a five-year
period. Equal annual payments under the lease are $630,000 (including $30,000 annual
executory costs) and are due on December 31 of each year. The first payment was made
on December 31, 2007, and the second payment was made on December 31, 2008. The
five lease payments are discounted at 10% over the lease term. The present value of
minimum lease payments at the inception of the lease and before the first annual payment
was $2,502,000. The lease is appropriately accounted for as a capital lease by Patten. In
its December 31, 2008 balance sheet, Patten should report a lease liability of
A) $1,902,000.

B) $1,872,000.
C) $1,711,800.
D) $1,492,200.

Use the following to answer question 19:

* Friend Co. began operations on January 1, 2007. Financial statements for 2007 and 2008 con-

tained the following errors:

Dec. 31, 2007 Dec. 31, 2008
Ending inventory $132,000 too high $156,000 too low
Depreciation expense 84,000 too high . —
Insurance expense 60,000 too low 60,000 too high
Prepaid insurance 60,000 too high —

In addition, on December 31, 2008 fully depreciated equipment was sold for $28,800, but the sale
was not recorded until 2009. No corrections have been made for any of the errors. Ignore income

tax considerations.

(REBHME WA EL)
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19. The total effect of the errors on the amount of Friend's working capital at December 31,
2008 is understated by
A) $400,300.
B) $316,800.
C) $184,800.
D) $124,800.

20. During 2008, Ogden Inc. had the following activities related to its financial operations:
Carrying value of convertible preferred stock in Ogden,

converted inte common shares of Ogden $§ 360,000
Payment in 2008 of cash dividend declared in 2007 to

prefarred shareholders 186,000
Payment for the early retirement of long-term bonds payable

(carrying amount $2,220,000) - 2,250,000

Proceeds from the sale of treasury stock (on booles at cost of $258,000) 300,000
The amount of net cash used in financing activities to appear in Ogden's statement of
cash flows for 2008 should be
A) $1,590,000.
B) $1,776,000.
C) $2,136,000.
D) $2,148,000.
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